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QUESTION 1

Why is quorum used in a Red Hat Cluster Suite installation?
A. To keep track of membership among nodes

B. To prevent splitbrain conditions

C. To establish communication protocols

D. To detect configuration conflicts

Correct Answer: B

QUESTION 2

Which of the following statements are true of full virtualization? (Select THREE correct answers)
A. Full virtualization has superior I/O performance through the emulated device drivers.

B. Full virtualization is faster than paravirtualization.

C. Full virtualization requires time and system resources for emulation.

D. Full virtualization requires no modification to the Guest OS kernel.

E. Full virtualization works through CPU emulation.

Correct Answer: CDE

QUESTION 3

What is the maximum number of nodes that a Red Hat Cluster Suite will support?
A. 16

B. 4

C.32

D.8

Correct Answer: A

QUESTION 4

Which of the following authentication types does keepalived support for syncing between failover servers? (Select TWO
correct answers)
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A. PASS
B. KRB5
C. AH

D. NONE
E. KEY

Correct Answer: AC

QUESTION 5
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Which solution is needed to make several servers in a network appear as one server?

A. pacemaker
B. heartbeat
C. drbd

D. Ivs

E. clvm

Correct Answer: D

Latest 304-150 Dumps

Latest 304-150 Dumps | 304-150 VCE Dumps | 304-150 Exam Questions

304-150 VCE Dumps

304-150 Exam Questions

3/3


https://www.passapply.com/304-150.html
https://www.passapply.com/304-150.html
https://www.passapply.com/304-150.html
http://www.tcpdf.org
https://www.passapply.com/304-150.html
https://www.passapply.com/304-150.html
https://www.passapply.com/304-150.html

